Foundations and Pre-Calculus 10

The General Term of an Arithmetic Sequence

Insert 2 numbers between 2 and 20 so that the four numbers form an arithmetic
sequence. { ¥ ”( Wf

- f 24 Bd =
) ,./ h ° l‘::_,_“; - g z gé
T -

2%54(:20 | A= 6

;A e
7l R
46 =Y b oAby v

a + ( n-

This leads to an equation for the general term:
? : 5 H + é = 2.0 R 4 ”’“é"*”g

t =a+(n-1)d where a = the first term

n = number of terms
d = common difference
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Ex. 1} Given the sequence 2, 9, 16, ..

a) Determine a simplified equation for the general term.
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b) Determine t,,.
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c) Determine t,,,.
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Ex. 2) -65is aterm in the sequence 19 13 7 . Which term is it?
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Foundations and Pre-Calculus 10

Ex. 3) In an arithmetic sequence, the 5" term is 53 and the 12" term is 102.

a) What is the first term? -+ 5 = 57 - = = foz
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Practice Work: Arithmetic Sequences Worksheet




